
 

 

 

 

 

 

Joint Description 
A Motor to Top 
B Top to “T” 
C “T” to Main 
D Leg to Main 
E Leg to Base 
F Main to Base 
G Cross to Main 
H Cross to Leg 
I Bottom to Main 

 

Joint Item Size Len A B C D E F G H I Per Side Total (Mr Fugu) 
L-Bracket 1/2" --   2 1 1 2 2 2 1 11 22 24 
Bolts 3/8” 1”   2 2 2 3 2 2 2 15 30 48 
Strut-Nuts 3/8” --  1 2 2 2 2 2 2 2 15 30 48 
Bolts 3/8” 2”  1 1    1 1  4 8 10 
Nuts 3/8” --   1    1 1  3 6 10 
Washers 3/8” 7/8”   4 2 2 4 4 4 2 22 44 1 box 
Washers 3/8” 1.5”  3        3 6 12 
Bolts 1/4" 2.5” 2         2 4 4 
Washers 1/4” 1.5” 4         4 8 12 
Nuts 1/4" -- 2         2 4 4 

 

A 

B 
C 

D 

E F 

H 

G 

I 

1 

2 

3 

4 

5 

6 

7 

7 

# Description Size Length Qty 10’ 
1 Top Beam Full 10’ 1 1 
2 “T” Section Half 6-10” 2  

2 3 Main 
Support 

Half 74” 2 

4 Base Half 36” 2 
5 Leg Half 5’ 2 1 
6 Bottom 

Beam 
Half 10’ 1 1 

7 Cross Brace Half 8-10’ 2 2 
 

motor 

Item Size Len Total Price Cost 
Superstrut Full 10’ 1 $20.00 20.00 
Superstrut Half 10’ 6 $15.50 93.00 
L-Bracket 1/2" -- 22 $1.77 38.94 
Bolts 3/8” 1” 30 $0.20 6.00 
Strut-Nuts 3/8” -- 30 $0.80 24.00 
Bolts 3/8” 2” 8 $0.35 2.80 
Nuts 3/8” -- 6 $0.11 0.66 
Washers 3/8” 7/8” 44 $0.14 6.16 
Washers 3/8” 1.5” 6 $0.18 1.08 
Bolts 1/4" 2.5” 4 $0.38 1.52 
Washers 1/4” 1.5” 8 $0.33 2.64 
Nuts 1/4" -- 4 $0.06 0.24 
     $197.04 

 


